< 00, > (M)

<op/p. > (70)

Ratio

<o @> (rad)
o
=
a1

o
[N

o
N

-1 0 1 2

3
TP n (PCA to beamline)

< o cot(y) >
o
=
a1

o
[N

o
i

0 1 2 3
TP n (PCA to beamline)

-1

—=— DQM_CKF_TTbase

—— DQM_CKF_TT_retrainOldFiles125_v2_prelimWP2_epoch4

20

0.9

0.8!

~n+nuL.i..Lﬁiqw
3 -2 -1 0 1 2

TP n (PCA to beamline

3
)

0o 1 2
TP n (PCA to beamline

-1

3
)

—~

100

(@)
TTT]

|
N
o
T

N
o
TTT[TTT[TIT[ITT]

...............................................

METETE EFST AN ATAT AT A AT ETAT A AR AT A R
1 N

- - FatH A

T[T T T[T T T T

0 1 2 3
TP n (PCA to beamline)

-2 -1



	Contents
	Page 1


